
� No.184-20-1 �

No.184-20-1 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 8732÷ 148 = (2) 495× 43 = (3) 150× 77 =

(4) 3662 + 2310 = (5) 2698 + 387 = (6) 10830− 1117 =

(7) 668× 78 = (8) 84915÷ 85 = (9) 9865 + 9751 =

(10) 18176− 8227 = (11) 8266− 2527 = (12) 10587− 5824 =

(13) 21275÷ 851 = (14) 1556 + 4235 = (15) 80× 251 =

(16) 51× 37 = (17) 5496 + 5173 = (18) 11004÷ 393 =

(19) 29382÷ 59 = (20) 549× 72 =

� 13th-note �



� No.184-20-1 �

No.184-20-1 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 8732÷ 148 = 59 (2) 495× 43 = 21285 (3) 150× 77 = 11550

(4) 3662 + 2310 = 5972 (5) 2698 + 387 = 3085 (6) 10830− 1117 = 9713

(7) 668× 78 = 52104 (8) 84915÷ 85 = 999 (9) 9865 + 9751 = 19616

(10) 18176− 8227 = 9949 (11) 8266− 2527 = 5739 (12) 10587− 5824 = 4763

(13) 21275÷ 851 = 25 (14) 1556 + 4235 = 5791 (15) 80× 251 = 20080

(16) 51× 37 = 1887 (17) 5496 + 5173 = 10669 (18) 11004÷ 393 = 28

(19) 29382÷ 59 = 498 (20) 549× 72 = 39528

� 13th-note �



� No.184-20-2 �

No.184-20-2 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 15958− 6915 = (2) 13987÷ 197 = (3) 16953− 9864 =

(4) 42× 293 = (5) 35793÷ 41 = (6) 3356 + 310 =

(7) 15444− 5511 = (8) 8001 + 9018 = (9) 467× 98 =

(10) 4619 + 6871 = (11) 9876 + 4290 = (12) 7617− 7271 =

(13) 86× 138 = (14) 43120÷ 880 = (15) 8970 + 6679 =

(16) 28× 697 = (17) 17514− 9883 = (18) 84600÷ 94 =

(19) 43195÷ 53 = (20) 9866− 8761 =

� 13th-note �



� No.184-20-2 �

No.184-20-2 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 15958− 6915 = 9043 (2) 13987÷ 197 = 71 (3) 16953− 9864 = 7089

(4) 42× 293 = 12306 (5) 35793÷ 41 = 873 (6) 3356 + 310 = 3666

(7) 15444− 5511 = 9933 (8) 8001 + 9018 = 17019 (9) 467× 98 = 45766

(10) 4619 + 6871 = 11490 (11) 9876 + 4290 = 14166 (12) 7617− 7271 = 346

(13) 86× 138 = 11868 (14) 43120÷ 880 = 49 (15) 8970 + 6679 = 15649

(16) 28× 697 = 19516 (17) 17514− 9883 = 7631 (18) 84600÷ 94 = 900

(19) 43195÷ 53 = 815 (20) 9866− 8761 = 1105

� 13th-note �



� No.184-20-3 �

No.184-20-3 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 64960÷ 80 = (2) 116× 70 = (3) 4256÷ 32 =

(4) 53805÷ 633 = (5) 50× 97 = (6) 43560÷ 792 =

(7) 16213− 7630 = (8) 8976 + 1067 = (9) 4450 + 4345 =

(10) 74× 286 = (11) 3084 + 3462 = (12) 8787− 2230 =

(13) 8457 + 5148 = (14) 17598÷ 838 = (15) 9780 + 8300 =

(16) 6630− 1889 = (17) 14× 76 = (18) 1989 + 1090 =

(19) 6916÷ 364 = (20) 5930− 3139 =

� 13th-note �



� No.184-20-3 �

No.184-20-3 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 64960÷ 80 = 812 (2) 116× 70 = 8120 (3) 4256÷ 32 = 133

(4) 53805÷ 633 = 85 (5) 50× 97 = 4850 (6) 43560÷ 792 = 55

(7) 16213− 7630 = 8583 (8) 8976 + 1067 = 10043 (9) 4450 + 4345 = 8795

(10) 74× 286 = 21164 (11) 3084 + 3462 = 6546 (12) 8787− 2230 = 6557

(13) 8457 + 5148 = 13605 (14) 17598÷ 838 = 21 (15) 9780 + 8300 = 18080

(16) 6630− 1889 = 4741 (17) 14× 76 = 1064 (18) 1989 + 1090 = 3079

(19) 6916÷ 364 = 19 (20) 5930− 3139 = 2791

� 13th-note �



� No.184-20-4 �

No.184-20-4 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 44180÷ 940 = (2) 9700− 8984 = (3) 78× 564 =

(4) 8568 + 7784 = (5) 45924÷ 516 = (6) 32021÷ 41 =

(7) 4501 + 1062 = (8) 3972 + 7782 = (9) 17094÷ 42 =

(10) 57436÷ 692 = (11) 2245 + 4065 = (12) 12× 239 =

(13) 63050÷ 97 = (14) 7611− 6221 = (15) 6700 + 4437 =

(16) 880× 59 = (17) 23× 195 = (18) 14718− 8591 =

(19) 9297− 3517 = (20) 3612 + 2963 =

� 13th-note �



� No.184-20-4 �

No.184-20-4 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 44180÷ 940 = 47 (2) 9700− 8984 = 716 (3) 78× 564 = 43992

(4) 8568 + 7784 = 16352 (5) 45924÷ 516 = 89 (6) 32021÷ 41 = 781

(7) 4501 + 1062 = 5563 (8) 3972 + 7782 = 11754 (9) 17094÷ 42 = 407

(10) 57436÷ 692 = 83 (11) 2245 + 4065 = 6310 (12) 12× 239 = 2868

(13) 63050÷ 97 = 650 (14) 7611− 6221 = 1390 (15) 6700 + 4437 = 11137

(16) 880× 59 = 51920 (17) 23× 195 = 4485 (18) 14718− 8591 = 6127

(19) 9297− 3517 = 5780 (20) 3612 + 2963 = 6575

� 13th-note �



� No.184-20-5 �

No.184-20-5 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1456÷ 91 = (2) 54× 251 = (3) 3905 + 8392 =

(4) 783× 55 = (5) 8629 + 5923 = (6) 34048÷ 448 =

(7) 639 + 9773 = (8) 7600 + 6700 = (9) 16× 205 =

(10) 9240÷ 154 = (11) 13325− 4708 = (12) 10105÷ 43 =

(13) 548 + 5404 = (14) 455× 59 = (15) 9389 + 2978 =

(16) 5793 + 7006 = (17) 7930 + 819 = (18) 4176÷ 348 =

(19) 8528− 5553 = (20) 923× 41 =

� 13th-note �



� No.184-20-5 �

No.184-20-5 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1456÷ 91 = 16 (2) 54× 251 = 13554 (3) 3905 + 8392 = 12297

(4) 783× 55 = 43065 (5) 8629 + 5923 = 14552 (6) 34048÷ 448 = 76

(7) 639 + 9773 = 10412 (8) 7600 + 6700 = 14300 (9) 16× 205 = 3280

(10) 9240÷ 154 = 60 (11) 13325− 4708 = 8617 (12) 10105÷ 43 = 235

(13) 548 + 5404 = 5952 (14) 455× 59 = 26845 (15) 9389 + 2978 = 12367

(16) 5793 + 7006 = 12799 (17) 7930 + 819 = 8749 (18) 4176÷ 348 = 12

(19) 8528− 5553 = 2975 (20) 923× 41 = 37843

� 13th-note �



� No.184-20-6 �

No.184-20-6 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 15024− 9516 = (2) 7475÷ 65 = (3) 7980÷ 28 =

(4) 8452− 4371 = (5) 1866 + 3381 = (6) 7345 + 1676 =

(7) 1470÷ 98 = (8) 6100÷ 61 = (9) 556× 23 =

(10) 66× 955 = (11) 5034 + 1161 = (12) 11180÷ 65 =

(13) 10744− 6450 = (14) 14611÷ 769 = (15) 14400− 9923 =

(16) 92× 272 = (17) 60× 905 = (18) 14706− 4795 =

(19) 1294 + 3269 = (20) 590× 72 =

� 13th-note �



� No.184-20-6 �

No.184-20-6 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 15024− 9516 = 5508 (2) 7475÷ 65 = 115 (3) 7980÷ 28 = 285

(4) 8452− 4371 = 4081 (5) 1866 + 3381 = 5247 (6) 7345 + 1676 = 9021

(7) 1470÷ 98 = 15 (8) 6100÷ 61 = 100 (9) 556× 23 = 12788

(10) 66× 955 = 63030 (11) 5034 + 1161 = 6195 (12) 11180÷ 65 = 172

(13) 10744− 6450 = 4294 (14) 14611÷ 769 = 19 (15) 14400− 9923 = 4477

(16) 92× 272 = 25024 (17) 60× 905 = 54300 (18) 14706− 4795 = 9911

(19) 1294 + 3269 = 4563 (20) 590× 72 = 42480

� 13th-note �



� No.184-20-7 �

No.184-20-7 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 3938 + 9400 = (2) 8672÷ 271 = (3) 9989 + 4604 =

(4) 61685÷ 845 = (5) 4345 + 5953 = (6) 84× 633 =

(7) 2777 + 6173 = (8) 10862− 6745 = (9) 7537 + 6932 =

(10) 59× 833 = (11) 8383 + 5388 = (12) 6141 + 8644 =

(13) 26122÷ 706 = (14) 5075 + 4348 = (15) 10724− 6930 =

(16) 28× 674 = (17) 6656÷ 16 = (18) 13779− 5355 =

(19) 6088 + 7095 = (20) 7419 + 9723 =

� 13th-note �



� No.184-20-7 �

No.184-20-7 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 3938 + 9400 = 13338 (2) 8672÷ 271 = 32 (3) 9989 + 4604 = 14593

(4) 61685÷ 845 = 73 (5) 4345 + 5953 = 10298 (6) 84× 633 = 53172

(7) 2777 + 6173 = 8950 (8) 10862− 6745 = 4117 (9) 7537 + 6932 = 14469

(10) 59× 833 = 49147 (11) 8383 + 5388 = 13771 (12) 6141 + 8644 = 14785

(13) 26122÷ 706 = 37 (14) 5075 + 4348 = 9423 (15) 10724− 6930 = 3794

(16) 28× 674 = 18872 (17) 6656÷ 16 = 416 (18) 13779− 5355 = 8424

(19) 6088 + 7095 = 13183 (20) 7419 + 9723 = 17142

� 13th-note �



� No.184-20-8 �

No.184-20-8 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1833 + 3597 = (2) 2026 + 6490 = (3) 84× 797 =

(4) 5242− 276 = (5) 7319− 3866 = (6) 9226− 8797 =

(7) 367× 36 = (8) 5108 + 8621 = (9) 743× 75 =

(10) 22475÷ 725 = (11) 793× 28 = (12) 3940 + 1309 =

(13) 1046 + 5317 = (14) 6574 + 7434 = (15) 10499− 8424 =

(16) 62× 462 = (17) 10335− 8972 = (18) 1949 + 3079 =

(19) 26568÷ 492 = (20) 10× 751 =

� 13th-note �



� No.184-20-8 �

No.184-20-8 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1833 + 3597 = 5430 (2) 2026 + 6490 = 8516 (3) 84× 797 = 66948

(4) 5242− 276 = 4966 (5) 7319− 3866 = 3453 (6) 9226− 8797 = 429

(7) 367× 36 = 13212 (8) 5108 + 8621 = 13729 (9) 743× 75 = 55725

(10) 22475÷ 725 = 31 (11) 793× 28 = 22204 (12) 3940 + 1309 = 5249

(13) 1046 + 5317 = 6363 (14) 6574 + 7434 = 14008 (15) 10499− 8424 = 2075

(16) 62× 462 = 28644 (17) 10335− 8972 = 1363 (18) 1949 + 3079 = 5028

(19) 26568÷ 492 = 54 (20) 10× 751 = 7510

� 13th-note �



� No.184-20-9 �

No.184-20-9 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 331× 94 = (2) 4183 + 3430 = (3) 4782 + 1450 =

(4) 8069− 4886 = (5) 1086− 450 = (6) 96628÷ 986 =

(7) 36818÷ 41 = (8) 6376 + 5868 = (9) 6677 + 5309 =

(10) 1138 + 7427 = (11) 7480− 3770 = (12) 14228− 8523 =

(13) 16296÷ 42 = (14) 2060− 1522 = (15) 15206− 8320 =

(16) 1908÷ 106 = (17) 29452÷ 398 = (18) 366× 56 =

(19) 707× 41 = (20) 12786− 4909 =

� 13th-note �



� No.184-20-9 �

No.184-20-9 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 331× 94 = 31114 (2) 4183 + 3430 = 7613 (3) 4782 + 1450 = 6232

(4) 8069− 4886 = 3183 (5) 1086− 450 = 636 (6) 96628÷ 986 = 98

(7) 36818÷ 41 = 898 (8) 6376 + 5868 = 12244 (9) 6677 + 5309 = 11986

(10) 1138 + 7427 = 8565 (11) 7480− 3770 = 3710 (12) 14228− 8523 = 5705

(13) 16296÷ 42 = 388 (14) 2060− 1522 = 538 (15) 15206− 8320 = 6886

(16) 1908÷ 106 = 18 (17) 29452÷ 398 = 74 (18) 366× 56 = 20496

(19) 707× 41 = 28987 (20) 12786− 4909 = 7877

� 13th-note �



� No.184-20-10 �

No.184-20-10 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 68× 250 = (2) 14655− 7953 = (3) 6805 + 5199 =

(4) 14645÷ 505 = (5) 800÷ 32 = (6) 16755− 8631 =

(7) 38925÷ 865 = (8) 8319− 6452 = (9) 591× 88 =

(10) 524 + 1778 = (11) 2746 + 3280 = (12) 9592− 2373 =

(13) 40715÷ 85 = (14) 8983− 6154 = (15) 42× 508 =

(16) 1560÷ 40 = (17) 10417− 940 = (18) 17280÷ 27 =

(19) 58× 991 = (20) 6310 + 6528 =

� 13th-note �



� No.184-20-10 �

No.184-20-10 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 68× 250 = 17000 (2) 14655− 7953 = 6702 (3) 6805 + 5199 = 12004

(4) 14645÷ 505 = 29 (5) 800÷ 32 = 25 (6) 16755− 8631 = 8124

(7) 38925÷ 865 = 45 (8) 8319− 6452 = 1867 (9) 591× 88 = 52008

(10) 524 + 1778 = 2302 (11) 2746 + 3280 = 6026 (12) 9592− 2373 = 7219

(13) 40715÷ 85 = 479 (14) 8983− 6154 = 2829 (15) 42× 508 = 21336

(16) 1560÷ 40 = 39 (17) 10417− 940 = 9477 (18) 17280÷ 27 = 640

(19) 58× 991 = 57478 (20) 6310 + 6528 = 12838

� 13th-note �


